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Unit 5.4 Operations with Radical Expressions EXAMPLES Period
Simplify.

1) V545 2) V3 +4/3

3) =36 -2/6 4) 36 -6

5) /5 +4/5 6) 3772 —3/8

7) 3712 +3+/27

9) 4/28 —3+/8 —2+/72

11) Va2(V12 +/14)

13) 58/30x(-2~/14 +2/6x)

15) (3+/7 = 2)(<6+/7 + 6)

17) (V3 + en)(=5+4n + \6)
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8) —3/8 +3/128

10) -6 +3/54 —3+/8 +3/32

12) —2~/35(7 - 2~/15)

14) \/5(~/7 + 4)

16) (V7 + V6)(=7\/7 + \6)

18) (-2+7 —6v2)(\2 + 2+/2p)
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Find the conjugate of the denominator.

5
19
) V2
5
21
)—1+\/5
23) \/E
—4+\/§
5
25) ——
)2—5‘\/2x2
S5x

27
) 3t —2/3x

N

29) S

a

3) —1+3\/§
\/§+4\/5

2a% — 5\ 542

33) —M—
) e Va2

© 2021 Kuta Softwar e L L C.

All rights re serve‘27

V2
20) W

2

\/§+3

22)

24
'

26
) 5+ o

2

3) 3
3+5V50*

30)

iy
S5

+ |+

3-5/5
32
) 3+\/5

34) 3p-2V3p?
Vspt+ N p?

Made with Infinite Alge bra 1.



Math 1

© 2021 Kuta Software LLC. All r

Name

reserved.

Unit 5.4 Operations with Radical Expressions EXAMPLES

Simplify.

1) \/§+\/g
245

3) -3/6 - 2+/6
56

5) /5 +4/5
3+/5

7) 3712 +3+/27
1543

9) 4/28 —3+/8 —2+/72
g\/7 — 1842

11) Va2(V12 +/14)
614 + 143

13) 58/30x(-2~/14 +2/6x)
~20~/105x + 60xV/5

15) (3+/7 = 2)(<6+/7 + 6)

_138 +30V7

17) (V3 + en)(=5+4n + \6)
1031 +3V2 = 1006 + 6~/
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2) \/§+\/§
23

4) 36 -6
26

6) 3772 —3/8
242

8) —3/8 +3/128
182

10) -6 +3/54 —3+/8 +3/32
86 + 672

12) —2+/35(7 - 2+/15)
~14~/35 + 20721

14) \/5(~\/7 +4)
\/£+4\/§

16) (V7 + V6)(=7\/7 + \6)
43— 642

18) (-2+7 —6v2)(\2 + 2+/2p)
214 —a\14b - 12 - 24~/p
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Find the conjugate of the denominator.
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